\\dcOT\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

@ INTERNATIONAL

"Lighthouse™

Glazed Fiberglass Door

w/ or w/out SIDELITE(S)
"NON-IMPACT"
INSWING / OUTSWING

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition
(2020) Florida Building Code (FBC) structural requirements excluding the "High
Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required to be protected with an impact resistant covering that complies with
FBC Sections 1609.1.2 & R301.2.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Sidelite panel details (Lip Lite Frame)

Sidelite panel details (Flush Glazing Frame)

1
2
3
4
5 Elevations
6
7
8
9

Horizontal & vertical cross sections (2X buck
Horizontal & vertical cross sections (1X buck
Horizontal & vertical cross sections (Direct fo Masonry)
Horizontal cross sections

10 Vertical cross sections
11 Buck anchoring

12 Frame anchoring

13 Components

14 Bill of materials

37.5" MAX. O.A. 56.25" MAX. O.A. 74.75" MAX. O.A.
FRAME WIDTH FRAME WIDTH FRAME WIDTH
‘ / / \ /7 / V
= X X X
o g Y, J J
T T S ' =
Zo 22 0 0 0
L Z W=
<z < > o © ©
02 o5
é- = é. g o) O
= s ©
N s \ / /
E———— l=—— ———
Continuous Head and Sill ) )
Continuous Head and Sill
DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION MT';’AEA;I,EAL INSWING OUTSWING
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
X, OX, XO, OXO FJ PINE +45.0 -55.0 +60.0 -60.0
X, OX, XO, OXO | COMPOSITE +45.0 -55.0 +50.0 -50.0

Refer to Sheet 4 for Flush Glazed Sidelite design pressure and frame size limitations.

1)
)]
0
.9
om”m
z
_—"\
m.“-onf)
E dOw
Z 00
<|.|0
= .
-4 00 o
D2>pZ
265
.. §o°g
ol® L
Sy T O XZ0
Qle = Z 0
N5 Eo Z0o
—|a €0 9, . cuw
—Jo 9« oo
—la M b i = 1]
2 &+ Do
9w
)] B4 .
Dg CO
<|g 6%
3 U .
g su
o 2a
)
]
=
&5
- a=
| (e |
= <
= S
o =L
%) o=
. =L
3 3 <O
(T -’a
o 3
= [
E Wl e,
= |4gE
- S5
= x|l =0
O olm
a =L
) g &
o
& &
(@]
Sl
(@]
m
Lo
=~
o
N
o
N
B
al &
= |2
Sl
4
e
=
S
oo
=)
o
S
—|<
Nal
s 0]
—|lo
pd
DATE: 1/28/20
SCALE:  N.T.S.
DWG. BY: TRJ
CHK. BY: LFS
DRAWING NO.:
FL-25575.4

SHEET _1 oF 14




\WdcOT\rwhA\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL. - 25575\C. Drawings\FL 25575 (2020\FL-25575.4.dwg

031" —=] j=—o ) ) —m| |=—0.25"
32 EXTERIOR 32 -
I N
i \
& ¥ 7 ’ N
\ b
‘ 7 ) : ! i@\
PVC
PVC \\ INTERIOR / STILE CAP
STILE CAP HINGE STILE LATCH STILE
(LVL) (V)
@ HORIZONTAL CROSS SECTION
2
1/2" GLASS BYTE ——
35.75" MAX. HOT MELT SEALANT —— 1" O.A. THK GLASS
PANEL"W'DTH 1/8" TEMPERED GLASS
_ 2288'MAX __ #8X 1-1/8" SELF -
D.L.O. WIDTH THREADING SCREW N
(@ CORNERS & CL) AN
q > S~ ARSPACE
| 1/8" TEMPERED GLASS
‘F_ J #8X 1-1/8" SELF BOXED SPACER
%5 TN THREADING SCREW (STEEL)
i X 2 =
25 o GLAZING DETAIL
83 i = @ 1/2" GLASS BYTE
1 / o] HOT MELT SEALANT 1" O.A. THK GLASS
S A
= o
= & * 1/8" TEMPERED GLASS
i [o o) 2
E : o ™~
z o N AIR SPACE
= /0
> } 1/8" TEMPERED GLASS
<
o \(2 THREADING SCREW DECORATIVE GLASS
SEE HARDWARE
TABLE

SECTION @ SCREW SECTION @ HOOK TAB

40 GLAZED DOOR PANEL
LIGHTHOUSE

A2 FLUSH GLAZING FRAME
FIBERGLASS

DOOR SKIN: 0.079" MIN. THK. FIBERGLASS

CORE MATERIAL: POLYURETHANE FOAM

KNOB: SIGNATURE SERIES
KWIKSET
DEADBOLT:  SIGNATURE SERIES (980)
KNOB: F SERIES
SCHLAGE DEADBOLT: B60 SERIES

TOP RAIL
(PVC)

TOP RAIL
REINFORCEMENT

(Lv1)

FIBERGLASS — &

SKIN

EXTERIOR

FOAM CORE

BOTTOM RAIL

REINFORCEMEN

(LVL)

BOTIOM RAIL — |

{PVC)

™~

—

——1.75" ——

0.8

INTERIOR

0.8"

1.35"

7“2\ VERTICAL CROSS SECTION

\2/

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

tyndon F. Schmidt
P.E. No. 43408

R

FBPE Registry No. 9813

TRINITY GLASS INT'L
PART OR ASSEMBLY:
DOOR PANEL DETAILS

PRODUCT:

DAC
BY

8/11/20 | UPDATE TO 7th ED. (2020) FBC

NO) DATE

1

REVISIONS

DATE: 1/28/20

SCALE:  N.T.S.

DWG. BY: TRJ

CHK. BY: LFS

DRAWING NO.:
FL-25575.4

SHEET _2 oF 14

© 2020 R.W. BUILDING CONSULTANTS INC.



. l[o

~— 1.75" —=]

STILE
(LVL)
17.5" MAX. _
PANEL WIDTH
6.88" MAX
D.L.O. WIDTH
N
7
Va
/I
A
[
= o
5 £
s 9
P a
i |0
= =
= s
Y @ ]
x5
<
y ==
/ O
/ o)

. SIDELITE PANEL
LIGHTHOUSE

DOOR SKIN: 0.079" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

=

CRENE TN
NN

.l

(GG

EXTERIOR |- 1.3" *—‘
-.; E}: \
INTERIOR STILE
—_— (LVL)
/"1 \ HORIZONTAL CROSS SECTION

3/

#8 X 1-1/2" SMS

(TYP.)

5/8" GLASS BYTE —=

HOT MELT SEALANT 1"O.A. THK GLASS

/— 1/8" TEMPERED GLASS

_—— ARSPACE
N

/4
/2

? =~ 1/8" TEMPERED GLASS

BOXED SPACER

#8X1-1/2' SMS (STEEL)
@ GLAZING DETAIL
5/8" GLASS BYTE ——
HOT MELT SEALANT 1" O.A. THK GLASS

/ 1/8" TEMPERED GLASS

L AIR SPACE
Y

7

VLJ

T~ 1/8" TEMPERED GLASS

SWIGGLE SPACER w/

#8 X 1-1/2" SMS DECORATIVE GLASS

(83

1.56" —|
‘ GLAZING DETAIL
DECORATIVE GLASS

i

. LIP LITE FRAME
HP POLYPROPYLENE

75" ——»!

r—l
-

(Y30
\\\\“ * Hif///,
N PTIITYN & //
N 1. %%
SO 4%;1, o
S8y 8 £Bz 8
=&z 2 x géézid,\
E Y o &S Lomw
Z oo oSk 8o
’/ - id £ T [¢)]
,/ .'u‘ »* @\\\ [ 0 .
,/ hA LT PPPPLas N -+ D0D© o
=—1.75" —= “,, \\\\\ 2>z
l L
TOP RAIL aamnt “.‘é za°f
(Lvi) ~_ I § s % 0 325
> & N5 Eo F0 0
: —}a £0 a c
n =g 8 508¢%
i ] i I
oj8 w |
D 5 co g
< £ OZ
3 0 .,
g cu @%
{ T
-"-:o U)
FIBERGLASS — I - 3
SKIN ; 5 £Q
8 | ok
3 |g X
= —
£ |B
= |93
5~ |8 &
e }
EXTERIOR 2 =
EAIERIOK S iz
¥/ 0. 0o
/4
Q
S =
(@]
®
=
S
M
= B
i
3 =
FOAM CORE _ Ik o &l
~ o
i =
S
0.
s
I
I~
S5
o
:‘ 13
| ® e

BOTTOM RAIL —] - -

(LVL OR PVC) i OATE: 1/28/20
ScAE:  N.T.S.
pwe. BY:  TRJ
CHK. BY: LFS

/:z;\ VERTICAL CROSS SECTION cH B
NEY FL-25575.4
SHEET _3 oF 14

\WdeOT\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

© zozo R.W. BuiLoing CONSULTANTS INC,



\dcOT\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

1

.7 1t

STILE
(LVL)

/"1 "\ HORIZONTAL CROSS SECTION

EXTERIOR

1.79" —

/]
[/}
A\

\

INTERIOR

\4/

13.75" MAX.
PANEL WIDTH
675'MAX |, |
D.L.O. WIDTH
q
‘ -]
/
74
/
/1)
¥ \4/
=
o
5 B
b L
D 3
£ 9 O
>~ % #8 X 1-1/8" SELF
< = THREADING SCREW
= b // (TYP.)
X o
<
/ =g
/ 29
‘ / : O
w

. SIDELITE PANEL
LIGHTHOUSE

DOOR SKIN: 0.079" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

THE FLUSH GLAZED SIDELITE IS LIMITED TO A
MAXIMUM DESIGN PRESSURE OF £50 PSF WHEN
USED IN AN OUTSWING CONFIGURATION

\
STILE
(LVL)

\\\“\\“”I[ /s,
R x %,
\\ ’."..OOCO..' &/l/
SA . QL v
Sy o ‘w ” [+)]
N2 '%', 2
S - AR
S5y § BE TR
EXSH TR Eig== o
— (-] ‘0Sy an
: &o. z .n.\: E O. (o120 4]
EA LS OS2 0g0
5, D e PS B S8
,, AT PYYL \\ 3 > "S z
/, W \\ [
""u;’fn W 5302
o & oo 3'%
I - O XZ 0
=l s¢ §  Eu
TOP RAIL ZlE 9% 22£6
(VL) ~_| * oz v,
= f,, frst
k. 3 Cu %
* 8 2o
FIBERGLASS — || - 4 ay
. . - <
SKIN 5 Eg
O
3 |3 &3
= [©)
E o |E W
Z |9 55
el B2
g 5 o=
8 =
& =
4 P
EXTERIOR INTERIOR 5o
(]
®
=
o
[
N i
. =z
gl
FOAM CORE = >
o [+
'.__
Lid
=z
fan
0.
o }
I
I~
=
pd _‘ BO
BOTTOM RAIL — | in —lc
(LVL) f =
DATE: 1/28/20
‘ scate: N, T.S.
DWG. BY: TRJ
(2" VERTICAL CROSS SECTION oo LS
w DRAWING NO.:
FL—-25575.4
SHEET _4_oF 14

© 2020 R.W. BUILDING CONSULTANTS INC.



TON SLNVIINSNDD aNiging

‘M 0zZoeg g

€186 'ON Ansibey 3dad
L616°6G9'C1L8 "ON ®uoyd

S6SEE 4 ‘OdMIPA ‘0£Z Xo8 ‘O'd \&Qb@

*ONI ‘SINVLIINSNOOD ONIgNg

SNOILVATTI

SNOISIAFY

Ad

41vd

"ON

avd

Jd4 (020¢) "3 4. OL 31vddn

0¢/LL/8

*AENISSY 40 Ldvd

witlirg
S8 oy,

N 60¥CH 'ON "3'd
N .. yawiozy
- 0 3ivis

..M,W\\\\\ IPILYSS "4 UOPUAT
.... \A. :Ag pespdedd sjuswunsog

TANI SSY19 ALININL

110Ndodd

oATE: 1/28/20
scAE:  N.T.S.

TRJ
LFS

DWG. BY:

CHK. BY:

FL-25575.4

DRAWING NO.:

N

5 o

SHEET

-

= 0207 ‘L1 isnbBny

X

N

9
G
“

D <2
T SHINES T mm
® = —)
SIS i
mw v ///,,v~ TN
D>
N @) mw N
R @es
en v —1c2
e = O A 3W
i D
@] O
| (<2
A v (2
S,
P PR C
DRI e
NPA M A

/7
Y

SSSS

Bmp'52552-14\0202) 52552 T\SBUIMIQ "D\G/SS2 - 14\slerciddy 1onpoid POl - VALNINVINYI S5e|S AHULL\SIUIDNGMINLOOPA



- . o, c oW A - S
L IPUE Ta A s R e
. < EEER I — & L e N
V 4 . . .4 CER e '..v-. . :‘v. y .:.
U PRV TIIES ~ ST SR
.‘ o CoTe
.o . R~ a - : .

S

20,

EXTERIOR INTERIOR

A\

/ 4"\ VERTICAL CROSS SECTION
\U Outswing shown - Inswing also approved

0.15"
C'SINK —=|

(TYP.)

1-1/4" MIN.
EMB. (TYP.)

Ny 0.15"

v —) e C'SINK

B _v.q'._.v ' (TYP)

e
Je. L. .. / "r \\Q

\\

/ 1"\ HORIZONTAL CROSS SECTION
\U Outswing shown - Inswing also approved

1-1/4" MIN,
EMSB. (TYP.)

o INTERIOR

(s0)&0,

EXTERIOR INTERIOR

A\

/5 "\ VERTICAL CROSS SECTION
W Outswing shown - Inswing also approved

1-1/4" MIN.
EMB. (TYP.)

/~2"\ HORIZONTAL CROSS SECTION

\6/ Outswing shown - Inswing also approved

0.15"

EXTERIOR

Zo
33
—/(0) 3
— L
3 —
Zs NOTE:
o= 1. liem #26 located 6" from each end
plus 2 more equally spaced (4 total).
1-1/4" MIN.
EMB. (TYP.) -
L
v
0.15" TN
CSINK —f [=— AN
(TYP) KNS
N
-._~ 'v * . -
- “ .v P
1 R
@®) L
.‘.- . K] "v.
\ oA D
P v... ..v v
Sy
. N v '.
vy vy
B

SEENOTE1

/”3"\ HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

August 11,2020 =

0
0]
']
]
o™
z
....._II\
o
N .v
5828
Lo
g I
J050 o
DZwZ
255
. §R22
2 ON - 8
- (23 e
v U O xzZzgo
£ E zZR.x
U-cm o [}
n.OO 3 .CLIJ
g gy 502%
LT Do
2w,
c [}
S > §
o]
s S @
8 2a
<
28
-~ Om
. =
= | B
0 s N
12 1)
S |y 82
o & ?::'9
t = HS
= ol QY
o <{] =
£ = o %&
Q o] TO
2 &
2 g ©
(s [s )
O
Sim
&)
o
ta.
=
N
[aw}
S
sl B
%)
S Q.
e
e
S
0.
D
(o]
=
—|<
~N S
o
*"‘O‘
e
DATE: 1/28/20
SCALE:  N.T.S.
DWG. BY: TRJ
CHK. BY: LFS
DRAWING NO.:
FL-25575.4

SHEET _6 oF 14

\\deo\rwhbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

© 2020 R.W. BUILDING CONSULTANTS INC.



\\\\\llllu ’
\\\\“ * Y3/, .,
S e T,
S X 8
—a a £2Y = .10
S I 4 3 g8, 420"
, . = o:g) ¢ EiS=Zon
S - " S . - [l
4 N ; .4 , e - -4 E’:Q:Q dowo
/e, 3y - CE L S Z o, SESE 828
ot va § ., S B % 3, LS EER°
« : N 4 4 & \ < . . 4 - a0 Yy, teesaner "&\\\ Slg‘ﬂo
@\;A — k = My g0 L
ON - 0
/© - S f B 0 x28
z¢ 4= Spfe a%e,
: \ ..2 — o = i o % o = < ln-l-'
:s = 13 Bl o REEE
t ATy ] O 8 b
— L 215 c8 §
@) <|E 8=
0 il
hoo o RoCHN e
1. ltem #26 located 6" from each end -
plus 2 more equally spaced (4 total). 28
~ 38
EXTERIOR INTERIOR EXTERIOR \ INTERIOR = B
A\ m S
2 o WD
2 3.8
{4\ VERTICAL CROSS SECTION {5\ VERTICAL CROSS SECTION ® g
\7/ Outswing shown - Inswing also approved w Outswing shown - Inswing also approved § & %é
= a K
" < ==
1-1/4" MIN. 1-1/4" MIN, 5I= x| &3
]"] /40 MIN. EMB‘ (TYP') EMB. (TYP-) o 8 [ Im
EMB. (TYP.) 2 g ©
(2 o
INd i g o
D - & /\/ /\/
< N < ‘ (&)
A > v . §
O @ ‘ @ @@ v S| |
v : INTERIOR v F S
. iy 3 . S ’ ¥ . E o
-\,\x\'\\\_\x\*,\}\'\\.\*;\‘i.\, ) /‘i!%\\{. , ; v P v » . §
S 1D (NN = = o 5
4 : 7 ’ o ’ (o]
@ e, \ ST . S
L 6 }V’ . v —{<C
v o I~
v [+o)
é EXTERIOR é@ g
@ E— EXTERIOR SEENOTE T oTe: 1/28/20
scale:  N.T.S.
1"\ HORIZONTAL CROSS SECTION /" 2"\ HORIZONTAL CROSS SECTION /3 "\ HORIZONTAL CROSS SECTION owe. BY: TR
w Outswing shown - Inswing also approved \7/ Outswing shown - Inswing also approved W Outswing shown - Inswing also approved cik. BY:  LFS
DRAWING NO.:
FL—25575.4
SHEET _7 oF 14

\WdcOT\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

@ 2020 R.W. BUILDING CONSULTANTS ING.



\dcONrwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

SHEET
ROCK

FURRING

1-1/4" MIN.
EMB. (TYP.)

1" MIN EDGE
DISTANCE

FURRING
NOITE:
SHEET 1. Iltem #26 located 6" from each end
/ ROCK plus 2 more equally spaced (4 total).

EXTERIOR

1-1/4" MIN.

©

77

A\

4 \ VERTICAL CROSS SECTION

INTERIOR

\8/ Outswing only

EMB. (TYP.)

/

N

v

. < '

B I ]

1" MIN EDGE

DISTANCE

7“1\ HORIZONTAL CROSS SECTION

= L L
. ‘ \
] - . 1
. v . 15

v. .
. < <A R
' {
1

ONEERE TR

@)

w Outswing only

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

FURRING \\\\““i'gggz,
N ‘s,
SHEET \\\\« "..-o'--o,'. .@ /,/ o
o* . ”~
1" MIN EDGE ROCK SS9 %z 3
< DISTANCE =iy 8 AEERE
= = osg) 2 % 1LEZ L
: : Z®8 o ;&S hen
g T ' =293 2 2030 555
5 SERN ., 2“"-. -’.Q: 2.90;0’
. Z . P8 2t .
. 5 7, LN 4 D cq [2}
‘ " '. S ._.q .o 9 .. / /’,/ \\\\ (:,)) >.:’_)Z
e e e / g gRve
IR v ‘a 5* ON -2
L a . /] Sl s ox28
(=] e F z 0 14
T 1 T ~ EO} 5@ o
~l8 €6 9 .cuw
—lE Ay 592%
glI* v+ Dok
()] B I
S g c9 (‘,§
N
\ 2 gui e%
@ ®
—
R
25
EXTERIOR INTERIOR . °g2
W\ = z2=
2 | E®
/5 "\ VERTICAL CROSS SECTION R FR
\y Outswing only N D &
E|B .8
LB O[4Ee
',....
e} k|l Sw
[ wn
SHEET o g
ROCK Q
%
FURRING FURRING
(&}
&
g
INTERIOR S @
5 6
(s0)50) 2
b W = %
i Z it m
z g zs 5
Z8 P =8 5
— / -
&
- \Lu
. o=
o [
. o
R o . 5
EXTERIOR (20) |- e 12
SEROTE | DATE: 1/28/20
N SCAE: N.T.S.
- . DWG. BY: TRJ
EMB. (TYP.) CHK. BY: LFS
DRAWING NO.:
/3 "\ HORIZONTAL CROSS SECTION Fl_n5575 4

2"\ HORIZONTAL CROSS SECTION

w Outswing only

\y Outswing only

SHEET _8 oF 14

© zoz20 R.W. BUILDING DONSULTANTS [NC.



"ON{| SLNVYLINSNOD aNIaing "m's 0zozg @)

€186 ‘ON Ansibey 3dad - SNOISIATY
LB16'6S9°CLE 'ON 8uoyd A 41vd [ON} o <+ |«
sescs T4 ‘oouion ‘ocz xog ‘0'd [l | SNOUIIS SO0 NINOZWOR vy (ozae) a3 wz o avaan [ oz/1i/a 1 |S| 4|2 (€] @ N
"ONI ‘SINVLINSNOD ONIaTING g ‘ATENISSY A0 Livd © M .58
82| | 8o

60vEY "ON "I'd ~ |&El&le |
PIIYDS 4 uopuil TINI SSY19 ALININL i M slul® @ &
:1ONA0¥d HEIHEE 5
//

;
@)

16
7“2\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

W\

INTERIOR
EXTERIOR

1\

00

AN
=
A
/1" \ HORIZONTAL CROSS SECTION

==
|

S

w Outswing shown - Inswing also approved

Item #26 located 6" from each end
plus 2 more equally spaced {4 total).

NOTE:

1.

BMP'S2552-14\0202) 52552 TH\sBuImeIQ D\ 2562 - 14\sjeroiddy 1onPoid epLOJS - VALNINVINYIA 55819 ANUL [\sIUsiD\XGMINLOIP\\



"ON] SENVLINSNGOD SNIgTing "M'd gzi0e @

€186 ‘ON Ansibey IJgd SNOISIAZY
L6L6'6S9'SL8 FON ouoyd Ag 31vd_[ON] o < |+
seses T4 ‘oouion ‘ogz xoa ‘0'd f]]. SNOILJSS $5089 WO rovqTaa {0g0z) @3 Wz oL awdan [ 0z/11/8 11 (S| vi|2|2] o .m_
"ONI ‘SINVIINSNOO ONIGTINg @ KIENISSV d0 Ldvd i e R
N|=Z S 0|~
N BN
60%SH 'ON ‘3'd —l.1&|&lg !
IPRUYDS *4 LOPUAT TANI SSV19 ALINIML i M N gl W
; X RIS H
:1LoNaodd SI81815|8 7
("dAl) "aw3
NIW /1L
(dAL) ana _ o DR
NIW./L-L o as
= : s
5 & @ b
REREE
e z
o
G
(V1]
= “
-~ %)
- O
O o
oz = O
mb 2 3
2 23 ) 22
< az's
Qle S SE
Ol i @
— -
n <t <
> 3|2 . AW
=2
>0
m I
[V ¥
JORUN R
v
g
® L
-0
- i [dAl)awa
NIW .F/1-1
[2'4
o
i &
('dAL) "aw3 m_
NIW b/ -1 - <
o
=
O
3
Z a
o]
________ £
QO
e 3=
w o /A,E,é:;;z:ﬂ VUio
= 0z RS .nlnm
3 O 5 @ il o
& alE - > £
= 3
£ m < ~ 2
QI
Q-
37
U2 :
z = :
&l o .
S8 v
.. b v
o — m ”4.. N
o
"4
=
N

BMpY's2552-14\0202) 52552 Ta\sBuImeld \G /552 - T4\sierciddy 19npoid epLold - VALNINYINYI S5el9 AHULI\SIUSIDNGMINLOIPAN



"TON| SANVIANASNGD aNIating "M'd 0202 @

£186 "ON Ansibey 3dEd SNOISIAZY
LBLB'6SS'CL8 "ON @uoyd 3ivd ION

| 8
CBEC 4 ‘OOUIDA ‘0T XO8 ‘O \SQ@ INIHOHINV X0nd Wa| 084 (0202) 03 W/ OL IMadn | 02/11/81 ¢

N
N

TRJ
LFS

[T

*ONI ‘SINVIINSNOO ONIGINg *ATENISSY "0 Ldvd S

-
-

L 1y
e WNoygls, 60¥E¥ "ON "I'd
N M YOOy . “ IPILIYOS 4 UOpUAT TN SSYTO ALINIEL
hV -* . % :Ag peundesd sjuswinoog +10Na0dd
@.\n 020¢ 'L 1 Jsnbny

FL-25575.4

SHEET

oATE: 1/28/20
SCALE:  N.T.S.

DWG. BY:
CHK. BY:
DRAWING NO.:

= -, 6oEyoN = \
\\\\ on.onogﬁ% .o-.» ,h'
\\\\&Q\-:o-o'ooo.\uw ///
/4 S \)
\\\:~uw==////
. (dAL) XYW
YE — “’:w: T 00wl
11 | | 1 I | I
3 I
b
< i
£ O
<L
8 &
D e
2 v
H ¥ ..
I I l I I

(dAL) "XVYW

(dAL) "D'0.91
~

2X BUCK ANCHORING

+ >
=1 2 Q
SN < 1 O
< e & vl
- T Ve
a Tl
e [ | | | | 7
. v m.,.mw Mm‘.m R s
- o h v ¢-‘ g v . B v

(TYP.)

. o (dAL) xww
— _ti. . n_wc v "2'0.91
w!f!- 1 1 I 1 I | |
o Q
A I Rt & r ..
L oE o X
4. M [ >
S == v -
AT “ _ I _ Ll
... AN LN K Y SR -d«-_ >
- a... ! 4..«.. =2 B e 4 nn\Uu Wu
[~a] A(
& =

Bmp1'52652-14M0202) 52552 1d\sBumelq "D\G/66Z - T:\sjeroiddy 12npoid epHold - VALNINVIAYI S5elD A [\S3UBID\IGMALOIP\



\de0T\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

* NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.)

MULLION SEE MULLION END
. e *(1¥P) N DETAIL (TYP.) 3 (1YP) ——
(TYP.) *} 1 (TYP.) r 4(1YP) — | \ 4 (1Y) ——
7 , LI][T | T I 1
©% 2X BUCK oE P 2X BUCK
—l— B 1X BUCK . 1X BUCK
DIRECT TO DIRECT TO
2XBUCK MASONRY MASONRY
‘ . HEAD & JAMBS | - HEAD & JAMBS
— IXBUCK || — 1 (TP (TYp)
DIRECT TO
MASONRY
HEAD & JAMBS G
—  [TYP) ~|| o_ — - B
é ol .
zE GE
oc
- 1% F 18
il | 5 8
- — (TYP)
SILL SILL
_ 3 - (TYP) —~ B TYP,
BV cillig ™Y
X XO/OX \ SEE MULLION END OXO
DETAIL (TYP,)
DIRECTTO DIRECTTO
MASONRY MASONRY
N\ 1X BUCK N\ 1X BUCK
m 2X BUCK 2X BUCK @
o || o b o ?i“'/
= e v § P | o | o
— o |7 ] o 1 eofd—]
B T=lite =T e
4 ./ ./ 1X BUCK
@ \ @ N DIRECTTO
MULLION END DETAIL HINGE DETAIL HINGE DETAIL MASORRY
(TYP. @ HEAD & SILL) INSWING OUTSWING

MULLION 2.
¥xOox=
¢
N2E
* [ 8
T o
.z CA
CE
g a
o] OD..
GE :‘SE R
SE L
% -
- == E
/ |
|| SEEHINGE DETAIL
(TYP.)
l I L Pa s

HINGE JAMB STRIKE JAMB

\
\

STRIKE PLATE DETAIL
SCHLAGE LOCKSET

1XBUCK
DIRECTTO

MASONRY STRIKE PLATE DETAIL

\\“nnm, 1
N s,
N s,
Q Ay,
> AT ’ 0
\\ -'. K ” o
:Q'. .'- - 0
3 = &V M
=5 g 8. =0 M
i o S 1=z
L H I | HE RN
- . : . Prou [o ]3]
’m'\ o QI‘Osu) - o
- A 4 ,'\\ cow
;W.o .‘.0: E O g O
-~ . o > ST D
/, oy Q\ ,_..Elﬂ .
7, Secean S JPw0o
%, N 2> 4z
Yy, \
(4] \\\ % o-v— >
\ e Ol’)w-v
Q & o« 3‘%
SEE gz
53 £ 4 ECD Z m g
<2 €0 9§ . cuw
—}® ‘gﬂ‘ = oo
S Pl B E£ED
3 & Do
D] |
1w 215 co
33 N W
23 g cul
- u- 8 2o
~e
SO
= L
3 I
o - %
o 5 =
2 |43
>.
o & Z
2|
/\ = |4
. o
- =~ w
S o
SEE STRIKE PLATE ] E
DETAIL & &
{TYP.)
-
Slm
O
om
Lo
=)
o
j]
< ln
sl 18
Yo
i< El
e
=
S
0.
oD
() S
N
| Iz
A\ i
\ -
\ -2
DATE: 1/28/20
/—ig
[ SCALE: N-T.S.
m owe. Bv:  TRY
\‘\ cHK. BY:  LFS
DRAWING NO.:
FL—-25575.4

KWIKSET LOCKSET

SHEET 12 oF 14

© 2020 R.W. BUILDING CONSULTANTS INC.



CON| SINVLINSNGD aNtaing

‘M 0208 Q9

£186 'ON Ansibey 344 - SNOISIATY S—
LBL6°6G9°CLE I"ON 8uoyd ol . < |«
S6SEE 14 ‘OSUIDA ‘OFZ %08 'O'd SININOdHOD OVa| 964 (0202) 03 WZ oL avaan | 0z/1i/a |t (N v|2|2| o 3
: N =13 ™
"ONI “SINVLINSNOD ONIQNG @“ "ATENISSY §0 Livd Q m L9
AN I I O N ]
60¥SH 'ON "3'd Bl &g
IPIWLYDS 4 UOPUA] TANI SSV19 ALINIML @ m sl |H
w Ag peJoded sjusuinoog -1.0Naoyd 5813835 m &
020z ‘11 Isnbny
__om._JA}J
0:
= © pr—— o
& 3T &
5 N & S
] z 9
3 = o) ” I
- ..wo.o y O
3 o ﬁ 1£0
:@N.O - A "
| : 8
. frr{f=
N =1
o — &0
&
I 5
o
& F° mm
] Q
5 ] S8
= 3
N o
o
_A ——&N-—b'!‘
".A :WN._. "’
q 2 % ¢
Y s 3 2
: F m E &
B Q 7.._ _._ :\ - =
N g9 + U < & 2|5
PN 50 , z N 3|2
@ b :OW,V m m .m.v
3
i - - ®
m —
] o] [o]
O 0] ~ B8
| o s Kel
SL°0 2 ~ Bs ]
[o]
@ (- ©
W =
5ol =
]
1 oS — s
P [ @ . ~ 3
- « ... _ M 2 5
m — W..U e > 0
< | 4
[ W -] Gl | o g
¢ H { :AVAV.N m
nr.ln.ON T m il :QW:V W/0~ m
8 : :
- N N | g ®
o~ K = Nt
/e 7 . 3
1 ]
[N}
i \\ Bz
— :WN._. - — _ O »
<
I :.VV.N
1 :Om..v

BMp1°5£552-14\0202) 52552 TH\sBuIMBIQ "D\G£§SZ - T4\slenoiddy 1onpoid BpLOL - YALNINYINYIA $5e19 ANULI\SIUSID\DGMINLOIP\\



BILL OF MATERIALS
[TEM # | DESCRIPTION MATERIAL

A |TXBUCK [5G >= 0.42) WOOD

B | 2X BUCK (3G >= 0.42) WOOD

C | 1/4" MAX. SHIM SPACE ;

D | 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

= | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4 X 3-3/4' PFH TW CONCRETE SCREW STEEL

G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

H | 3/16 X 2-1/4" PFH TW CONCRETE SCREW STEEL

K| 1/4"X 2-3/4" PFH DeWALT CONCRETE SCREW STEEL

L |#10X 2-1/2 PFH WS (1.15" MIN. EMBEDMENT] STEEL

P | 1/4"X 2-3/4" PFH DeWALT OR TW CONCRETE SCREW STEEL

T | HEAD & JAMB (FINGER-JOINT PINE - SG >= 0.42) WOOD

2 | HEAD & JAMB PVC

3 | HEAD & JAMB [5.25") (FINGER-JOINT PINE - SG >= 0.42) WOOD

4 | INTEGRAL MULLION (PINE - SG >= 0.42) WOOD

5 |INTEGRAL MULLION (PVC) PVC

6 | INTEGRAL MULLION BASE KIT PC/ASA

7 | WEATHERSTRIP FOAM

8 | DOOR BOTIOM SWEEP PVC

9 | #6 X 1-1/4 PFH DRYWALL SCREW STEEL
#9 X 2-1/4" PFH WOOD SCREW STEEL
LATCH STRIKE PLATE STEEL
DEADBOLT STRIKE PLATE STEEL
DEADBOLT SUB-STRIKE PLATE STEEL
SILLKEY ABS
#8 X 1/2' PFH WOOD SCREW STEEL
#12 X 2-1/2" PFH WOOD SCREW STEEL
#9 X 3/4" PFH WS STEEL
#9 X 1" PFH WS STEEL
#8 X 2" PFH WS STEEL
#8 X 2-1/2" PFH WOOD SCREW STEEL
#10 X 3' PFH WOOD SCREW STEEL
4"X 4" HINGE STEEL
INSWING THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM./ COMP.
SIDELITE SPACER - INSWING PVC
OUTSWING HIGH-DAM THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE | ALUM./ COMP.
SIDELITE SPACER - OUTSWING PVC

DOOR PANEL - (LIGHTHOUSE)

SIDELITE - LIP LITE GLAZED

SIDELITE - FLUSH GLAZING

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, addifional concrete anchors

may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

......

—-—
-
ot

’/% K
Z,
7,

August 11, 2020
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

BUILDING CONSULTANTS, INC.

ONAL
T

P SSION
/) 'II

‘7,
813.659.9197

P.O. Box 230, Valrico, FL 33595

Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

DA
BY

8/11/20 | UPDATE TO 7th ED. (2020) FBC

1

NOJ DATE

TTW BUILDEX

DATE: 1/28/20

SCALE:  N.T.S.

TAPCON® | 1/8 1-1/4° 7 I
DeWALT ., § .
uLRACONS | 174 1-1/4 " 4

DWG. BY: TRJ

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

CHK. BY: LFS

DRAWING NO.:
FL—-25575.4

SHEET 14 ofF 14

\dcOT\rwbc\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.4.dwg

REVISIONS

© 2020 R.W, BUILDING DONSULTANTS INGC.



